o(d x) (um) for PV

Ratio

a(dy) (um) for PV

Ratio

a(d z) (um) for PV

Ratio

o0 X) (um)

10 =

10E:

o(d x) for merged vertices (um)

10°

10?

10k
3 o E
T
2 e of
1 3 B | LR T £+ ) I i
E — . e 0.8k
10 0 1 10
Yp (Ge\}) 5. Gev)
DQM_TT_mMKRFT-DQM_originat
R /data’Z/I(_?_g anni/standalone-May24/CMSSW_13 2 X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated-0
mkFit-DQM_original newwindows —
£ B
2 =]
= @
° e
10%E: o 5
>
e}
Q
2
Q
1S
S
10 N
2
5
1 o k!
1.2 =1 =
C o @
I
08
B £
2 =
N . 3
2, o3lkld: 2
102 & 107k 5
>
©
(@]
>
Q
IS
107 g
10E: N
<
B
10[:
1 o < i)
L T I T
[ o g4 o
1t
0.8f il

§°p (Gev)

Yo, (Ge\})




	Contents
	Page 1


